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4 B e 1T AH-YAER B
BRE BBA\DRERE 3,600
REE BYIN\R2B% 4B O|LOMX%
R BEREM (TN 345
AR AP B OEA— 2,827
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Kt ZLLWARE 14
BEAR F—ET N 800
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4 B e HE By BA iy HE &R kS
BRE BBV AERE 164] A 3,600 590,400 RHILEDR
A #EZER Wk 600ml 325 & 108 35,100 ERE
A E—JLXH#E 633ml 285 & 315 89,775 ERE
AR BAE 1.8L 3| & 1,523 4,569 ERE
A 94 A% — 700ml 3| & 1,242 3,726 EER
AR Y —A Ry 500ml 20| & 97 1,940 EXEE
A BEET Rk 4L 30| & 1,944 58,320 E=E
AP BREFEANYE 2L 130 & 140 18,200 EXEE
A E— /L 350ml 660| 7 195 128,700 E=E
A LEYTOvT 600ml 3| K 378 1,134 EER
A Avyo 74X 1.1K 13| & 227 2,951 ERE
A BOEH 164| {& 500 82,000 X=E
AR RYayF 280| & 11 3,080 EEE
HER 34,360 E=E
B5l= ~260 ERRE
RE&H SRR (1TA) 164 345 56,580 HLIBLVER
LoaLk FERAaO 4 1,000 4,000 INKRE
PRA & JansUAHR 32 500 16,000 INKE
HER 1,600 INKRE
LRI HERE-FLNETESREYE 1 73,320 73,320 LI kA—IL
HER 5866 LkA—IL
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A E—JLXH#E 633ml 160| & 315 50,400 E=E
AP B AGE 1.8L 2| & 1,523 3,046 EXEE
AL 4 X&— 700ml 2| X 1,242 2,484 E=E
AP YY—H Rk 500ml 12| & 97 1,164 ERE
AR BEET Rk 4L 20| & 1,944 38,880 ERE
A BEEFEANYA 2L 80| & 140 11,200 EXER
AR E—JL{E 350ml 408| & 195 79,560 EXEE
A LEYSAYT 600ml 2| X 378 756 E=E
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A BOFEH 100| 1@ 500 50,000 E=E
A RYyayT 300| {& 11 3,300 EER
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HER 1,120 INRE
LRI HERE-FLNETESREYE 11 K 33,845 33,845 LykA—IL
HER 2,708 L2 kA—IL
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A E—JLXH#E 633ml 240| & 315 75,600 E=E
AR HAHE 1.8L 3| & 1,523 4,569 ERE
AR 74 X&F— 700ml 3| & 1,242 3,726 ERE
A Y —5 Ak 500ml 18| & 97 1,746 XRE
AR BEE Rk 4L 30| & 1,944 58,320 XRE
A ERERN VA 2L 120 & 140 16,800 EX=E
AR E—JL{E 350ml 623 & 195 121,485 ERE
A LE>> Oy 600ml 3| & 378 1,134 ERE
AR AYI7A R 1.1K 12| & 227 2,724 EER
AR EOFEH 150| & 500 75,000 ERE
A RYayT 450 1@ 11 4,950 ERER
HER 31,876 XRE
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LRI FRHIvN0 4| & 1,000 4,000 INKRR
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HER 1,600 INKRE
LRI HIBRE-FIMETESR YL 1] = 73,320 73,320 LI kA—IL
HER 5,866 LobA—IL
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